From the files of Norman Dobson
(edited by T. Gideon)
Calculus II — Final Exam Problems
Positive Series

Determine whether the series converge or diverge.
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Answers
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. Converges (LCT)

. Diverges (p-series)

. Diverges (LCT)

. Converges (Ratio Test)
. Converges (LCT)

. Converges (Ratio Test)

Diverges (p-series)

. Converges (LCT)

. Converges (Ratio Test)

Converges (Ratio Test)
Diverges (DT)
Diverges (IT)
Converges (Ratio Test)
Converges (LCT)
Converges (Ratio Test)
Converges (LCT)

Diverges (DT)

18.

19.

21.
22.
23.
24.
25.

26.

28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.

49.

Diverges (Ratio Test)

Diverges (DT)

. Converges (IT)

Diverges (geometric series)
Diverges (DT)

Converges (LCT)
Diverges (lim S,,)

Diverges (DT)

Diverges (LCT)

. Converges (IT)

Converges (Ratio Test)
Converges (LCT)
Diverges (DT)
Diverges (DT)
Converges (LCT)
Diverges (Ratio Test)
Diverges (IT)
Converges (Ratio Test)
Converges (CT)
Converges (Ratio Test)
Converges (IT)
Converges (IT)
Diverges (Ratio Test)
Converges (LCT)
Diverges (DT)
Converges (LCT)
Converges (LCT)
Diverges (LCT)
Converges (IT)
Converges (lim S,,)
Diverges (LCT)

Diverges (IT)
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Diverges (DT)
Converges (Ratio Test)
Converges (LCT)
Converges (LCT)
Converges (Ratio Test)
Diverges (DT)
Diverges (lim S,,)
Converges (IT)
Diverges (DT)
Converges (Ratio Test)
Converges (Ratio Test)
Converges (CT)
Diverges (LCT)
Diverges (DT)
Diverges (LCT)
Converges (CT)
Diverges (Ratio Test)
Converges (Ratio Test)
Diverges (LCT)
Converges (IT)

Converges
(geometric-series)

Converges (Ratio Test)
Diverges (DT)
Converges (Ratio Test)
Converges (LCT)
Diverges (IT)
Converges (LCT)
Converges (IT)
Converges (Ratio Test)
Diverges (LCT)
Converges (Root Test)

Diverges (DT + geometric
series)
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Diverges (Ratio Test)
Converges (IT)
Diverges (DT)
Diverges (LCT)
Converges (LCT)
Diverges (LCT)
Converges (IT)
Diverges (DT)
Diverges (LCT)
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Diverges (DT)
Converges (Ratio Test)
Converges (Root Test)
Converges (CT)
Converges (Ratio Test)
Diverges (DT)

Diverges (Ratio Test)

Diverges (p-series + geom.

series)
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. Diverges (Ratio Test)
Diverges (DT)
Converges (LCT)
Diverges (LCT)
Converges (CT)
Diverges (DT)
Converges (CT)

Diverges (DT)



